Total number of pages - 8

CODE : 34T ECON

- 2024
ECONOMICS

( For New Course Students)

Full Marks : 80 '
(Part-A = 40 + Part-B = 40)
Pass Marks : 24 _
( For Old Course Students in lieu of Project Works )
J
Full Marks : 100
(Part-A =40 + Part-B =40 + Part-C = 20)
Pass Marks : 30 o

Time : Three hours

~ Those .who appeared till H.S. Final Exam.-2023
have been treated as Old Course students

The figures in the margin indicate full marks
for the questions.

. PART-A (¥ - 9)
For New Course

Q. No. 1 carries 1 mark each (any four)........en . 1x4 =
Q. No. 2 carries 2 marks each (any fioe) ...........ceceeueec. 2x5 =10
Q. No. 3 carries 3 marks eaclt (any H0O0) ........cccovererevenne.. 3x2= 6
Q. No. 4 carries 6 marks eaclt (any HOO) .......cccvrvvercrnernnnn, 6x2=12 .
Q. No. 5 carries 8 marks eacl (any 0Ne) ...oorvvveerecrivrireneys 8x1 =

’ Total = 40

PART-B (2 - Sizx)

For New Course

Q. No. 6 carries 1 mark each (any four) .....covcvvvvrcieneenn, Ix4= 4
Q. No. 7 carries 2 marks each (any five) .....cevvececcnnncn. 2x5 =10
Q. No. 8 carries 3 marks each (any tw00) .....ccvvvrviriieiiiins 3x2= 6
Q. No. 9 carries 6 marks each (any f00) ....cecvevvicccucucncnas 6x2 =12

. Q. No. 10 carries 8 marks eaclt (any 0ne) ........ccococuevereneve 8x1= 8
Total = 40

PART-C (% - =iz«t)
For Old Course (in lieu of Project Works)
Q. No. 11 carries 5 marks each (any four) .................... 5x4 = 20
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PART-A [/ -9

1. Answer any four of the following questions : 1x4=4
wH e vl esiraiad iz sifsbrq ©ed v g
(i)  What is intermediate good ?
el wa s e gee
(ii) 1If MPS =1, what is the value of MPC?
g MPS =1 %4, MPCq sIH &9 292
(i) Primary Deficit = Fiscal Deficit - . (Fill in the blank)
e 9ift = rereram @ - | (1T 312 %79 30)
fiv) . Which one of the following is not a quantitative credit control
measure of the central bank ?

o (B! (TR ([ ARTRDS W9 [Fagd e w5q2

(a) Bank rate

T T
(b) Open market operation
& e A
(c) Variable reserve ratio
ARSI Aafre ot el
(d) Direct control
g fRagd

(v) Write one merit of flexible exchange rate.

sifeasaiia [RiTn == @by FRA

(vi) What is GDP deflator ?
GDP &3 &2

2. Answer any five of the following quesuons : 2x5=10

CFR WARA P Flvor9 Sl il ¢

(i)  Differentiate between capital expenditure and revenue expenditure.
AL W WS IGR JIR TG A1 o

(i) What are the components of high-powered money ?
THFTOITE TR EAMTAIE & 2

(i) What are the transactions that are included in the capital account
of balance of payments ?
WWWTW%W%%WWTiW’

(iv) Define personal income and personal disposable income. -
JrENs WA WF Jfes Jacaey AFI A &
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(v) As a result of increase in investment by Rs. 125 crores, national
income increases by 500 crores. Calculate the wvalue of the

multiplier.
Rl 125 16 b= 3 =1 Trsim O™ 500 &6 Gt 3 =0 1 woa e
fRefa <=1

(vi) Distinguish between stock and flow.
G WRE AL e ANLwy (rge |
(vii) Write any two implications of revenue deficit.

3rEz Wb’ [eele g0 @[ @i

3. Answer any two of the following questions : 3x2=6
weTs Al ereacE fArercan gorq &e a8

(i)  Write any three limitations of barter system.

ffem aR freear foRG srjfkal SrEd 4|

(i) What is balance of payments deficit ? Write two causes of balance
of payments deficit.

AARR TR =6 2 ARen@ Fwer wfts 7oy = Tad w4|

(iii) Write a short note on :
Autonomous and Induced Investment.

55 (o foral ¢
ToF S wferers [iEcais

(iv) What is a government budget? What are the components of
government budget ?

5IBIS] ACET F2 5FEITT AT TAMAAIR 5 o2

4. Answer any two of the following : 6x2=12
CoR PRI fcec 7513 Ol fw g
(i)  Discuss the motives of demand for money ? What is liquidity trap ?
5+1=6
YER SRR SfSARTTE SIEbl T4 | O] 2 52
(ii) Briefly discuss the income method of calculating national income.
From the following data calculate Gross National Product at market
price (GNPump). 4+2=6
GO ST Sl 11 G Aarsiol 53T SEDAl I | Ood OUR AYTS I&[
TS o GISIN SeANH sl T |
(in Rupees crore)
(=6 Fr9)
(i) Mixed income of self-employed 400
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(in Rupees crore)

(= =te)
(i) Compensation of employeces 500
o fra =feopad
(ii1) Net factor income from abroad (-20)
faneia ol gl st wE
(iv) Net Indirect Taxes (Fab ~ars 32) 100
(v) Consumption of fixed capital 120
[ES R GEoeicap! .
(vi) Profits (51®) . .350
(vii) Rent (ArEl) 100
(viii) Interest (W) , 150

(iii) Discuss the functions of commercial bank.
AT @ IR SCETEl 41 |

(iv) Define aggregate demand and aggregate supply. Complete the
following table and determine the equilibrium level of income :
2+4=6

ANERs izw wie ANES e e T ees W e od 3R
SRAN WEES AT 4 e '

Aggregate Consumption Savings Investment Aggregate
Supply Demand
AwlEE Caeim Soirotsl ALY et Afes vif
(AS) (C) (S) (I) (AD)

900 780 40
800 700 40
700 620 40
600 540 40
500 460 40
400 380 40
300 300 40
200 220 40
100 140 40
5. Answer any one of the following : 8x1=8

©oT4 2HITARA [T @b Oel fra s
(i)  What is fiscal policy ? Discuss the impact of changes in government

expenditure and changes in taxes on equilibrium income.
' 2+3+3=8

e SCADA 3911 |
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(i) Explain the determination of exchange rate under flexible exchange
rate system.

ST e 2R e [RiEsm gr fAdad @ o)
(iii) Write short notes on : . 4+4=8
59 (GrRe &l 8
(a) Demonetisation
frgereea
(b) Fiscal Respon'sibility and Budget Management Act, 2003
JECHRE wiRg TAF" oF AT ARGE oIiEq, 2003

PART-B / 4-5I4

6. Answer any four of the following questions : ‘ 1x4=4

R AR frwican oifabiq ok vl ¢

() What is underdeveloped economy ?
e ST e & @i

(i) In which year World Trade Organisation (WTO) was formed ?
4 aftey 7iKmw (WTO) R 5% sioq T2fee 2

(iii) Write the full form of SHG.
SHG 3 7= @7t Tl |

(iv)] Write one objective of NITI Aayog
" NITI SicasR @b Soay ol |

(v) Golden revolution was related to —
(a) fish production
(b) horticulture production
(c) milk production

(d) agriculture production (Choose the correct option)
claE [Ree gfive ofest —

(a) T GeAWTR TS

(b) TSI BAMAI (S

(c) W% T AWM (0o - e

(d). J TR TICe (5% 75 R #41)
(vi) Define privatisation.

Jfesreaer @l

7. Answer any five of the following questions : 2x5=10
' SR ejraled [ArEiTa SAh1q Ol w8

(i)  Mention two non-institutional sources of rural credit.

Sy R g5 SRS B BTl T |
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(i)  Write two long-term goals of Five Year Plans of India.
lqea Awaids sAffss@m gy T w7 F-0

(iii)  Mention two types of unemployment prevalent in the agriculture
sector of India.
laed $lunes opfas 72 awEm Feegal Tem S S|

(iv) What is the importance of green revolution in the Indian
agriculture ?
el Ffaes orew Rum oy e

(v) Write two positive effects of LPG policies in the Indian economy.
elgo weifes LPG TS’ 707 N ereil &

(vi) Write two merits of globalisation.
(SRR 757 JfR[a S 41|

(vii) Mention two objectives of disinvestment.

e 761 S SrEd 4|

8. Answer any two of the following questions : 3%2=6
O MR [ whi7 Sl WAl ¢
(i)  Write a note on Industrial Policy Resolution, 1956.

Swiifsie Tife 2iwr, 1956 1 @@ «ft G &)

(i) Briefly discuss any one serious environmental problem India is
facing at present time.

TETW TS SRS FYAH @l Rl @B wwea ARETE TR R
LR ERAGIPTIRE N

(iii) Discuss the composition of India’s foreign trade on the eve of
independence.
FTTOR ATEET SREILR @R IR 159 [Raw Sieetoa w4

(iv) Explain the role and importance of education in human cap1tal

formation. .
TR A oidwe Prer g e oFg 399 9

9. Answer any two of the following questions : 6x2=12
TER PEARR Rl ghrd Tk fudl ¢

(i)  Write a comparative note for India, China and Pakistan on the basis

of
fa) Demographic indicators
(p) Human development indicators

(@) GHARER shaf e
(b) thﬁtmﬂmﬁﬁﬁﬂa—ﬁamm@ﬂaaﬁw,
O &gs T4 |
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(i) Briefly discuss the challenges India is facing in the context of
employment.
fcaise (erwlelte eReadE TR (TR TPPEIE 5 SICEsAl 341 |

(iii) What is economic reform ? Explain the need for economic reforms
in India. 1+5=6 .
wftTos HFE 2 SReIds wEfsT FFRT gl 3¢ I |

(iv) Outline the common developmental successes and failures of India

and Pakistan. 3+3=6
oS wiE AAfewaa Srazont wweel uiE e [Ra fo )
10. Answer any one of the following : ' 8x1=8

o) fAcpier @bt epes Tes fua ¢

() What do you understand by agriculture marketing system ?
Discuss government measures to improve agriculture marketing
system in India. 2+6=8
TR IR 7T IR [ ol 2 SReIdS TR IOR I97 T IR a7

ANCFIATIR. DA T4 |
(i) Analyse the concept of sustainable development. Also discuss the

strategies for sustainable development. 4+4=8
- FFTF BT IRNCH [ReeRe 91 | Folre 2w THAad (FHEITR. el
90| ,

PART-C / -5
( For Old Course Students in lieu of Project Works)

11. Answer any four of the following questions : 5x4=20
SR farerear sif<br ewe Bed [l

(i)  Write a critical note on pubhc debt.
5 W] RE@ @it siEass Gl @3

(ii) Discuss the sources of demand for foreign currency.
AT TWR BIRRAR SR b 34 |

(iii) Can GDP be used as an index of country’s welfare ? Justify your
answer.

GDP 3 934 WW‘WW'?{WW ARE ? (SN TG/ F4TF I
Lipsuncifl

(iv) What is human capital ? Discuss the sources of human capital.
TR A 2 A0 e 91571 SR SIS 3[4 |

(v) Briefly write about India as a knowledge economy.
@l Sz 2o sedds Raw st fH

" (vi) Discuss the circular flow of national income in a simple economy.
G el LRI WS FHIF RIZ WO I | ‘

X
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